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; 100kN/M%#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 1 000 ~ 455 56.78 | Ths | 000 ~ 455 1.90 9.569 ZznLst 1.00 | 5.00 ~ 5.00 56.78 | =S | 5,00 ~ 500 1.90 9.59
2 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#Z % — - ~ — — |3mZE#BZ B - ~ — — -
ZznLst 1.00 |1 000 ~ 571 71.31 | =LY | 000 ~ 571 1.80 9.09 znLst 1.00 | 5.00 ~ 6.40 71.31 | =S | 6,00 ~ 6.40 | 1.80 9.09
P 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — -
znLst 1.00 | 0.00 ~ 7.64 97.93 | =hst | 000 ~ 764|208 10.52 znLst 1.00 |1 6.00 ~ 1040 97.93 | #nLS | 5,00 ~ 1040 2.08 10.52
4 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8Z % — - ~ — — |3mZE#BZ B - ~ — — -
ZznLst 1.00 1 000 ~ 5687 73.40 | =nLsY | 000 ~ 0.00)| 1.57 7.96 znLs 1.00 | 5.00 ~ 7.20 73.40 | FnRS | 5.00 ~ 720 | 1.57 7.96
5 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8Z % — - ~ — — |3mZE#BZ 3 - ~ — — -
znLst 1.00 | 0.00 ~ 6.52 82.12 | #hst | 0oo ~ 000|165 8.32 znLst 1.00 | 5.00 ~ 8.00 82.12 | #nS | 5,00 ~ 800 1.65 8.32
g 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/MiZ#Z % — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 | 0.00 ~ 5.80 72.55 | =LY | 000 ~ 000)1.75 8.83 ZznLst 1.00 | 5.00 ~ 6.50 72.65 | EnRS | 6,00 ~ 6560|175 8.83
7 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%#8Z % — - ~ — — |3mZE#BZ 3 - ~ — — -
znLst 1.00 1 000 ~ 6.07 76.05 | =nLs | 0.00 ~ 0.00)| 1.60 8.08 znLst 1.00 | 5.00 ~ 7.40 76.05 | EnRSY | .00 ~ 7.40 | 1.60 8.08
g 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/MiZ#Z % — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 1 0.00 ~ 4.59 57.18 | =hst | 0oo ~ 0.00| 1.59 8.02 ZznLst 1.00 | 5.00 ~ 5.00 57.18 | =S | 5,00 ~ 5.00)| 1.69 8.02
9 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z# %% — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 | 0.00 ~ 6.03 75.60 | =N | 000 ~ 000|171 8.65 ZznLst 1.00 | 5.00 ~ 6.90 76.60 | EnRS | 5,00 ~ 6.90 | 1.71 8.65
10 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z# %% — - ~ — — |3mZE#BZ 3 - ~ — — -
znLs 1.00 |1 0.00 ~ 5.51 68.83 | =S | 000 ~ 0.00)|1.57 7.92 ZznLst 1.00 | 5.00 ~ 6.60 68.83 | EnLS | 65,00 ~ 6.60 | 1.567 7.92
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ D ~
Zh s ~ ZnLst ~ Zh s ~ ZnList ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ S ~
Zh s ~ ZhLst ~ Zh s ~ ZhLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ D ~
Zh s ~ ZhLst ~ Zh LS ~ ZhLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZD ~
Zh LS ~ ZhLst ~ Zh LS ~ ZhnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZD ~
zhList ~ s ~ ZzhLst ~ st ~
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